
2 7 6
8 1+

2 7 5
2 9 4+

3 4 5
1 5 5+

2 9 7
3 4+

8 1
5 5+

6 6
3 7+

4 9 3
3 9 8+

5 7
4 2+

1 8
1 8+

1 9 9
1 7 7+

3 7 1
2 7 8+

1 0 4
2 1 7+

8 7
5 6+

Solve the addition problems.  Use the answers to solve the riddle by writing the letters with their answers on

the lines below.

.

'
649

136 357 99 143 36 136 143 103 500 36 376

143 331 357 500 376 143 136 143 321 891 321 569 36

Why didn't the skeleton cross the road?

Name: Date:

A

N

U T I

V G B E

C H S D
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2 7 6
8 1+

2 7 5
2 9 4+

3 4 5
1 5 5+

2 9 7
3 4+

8 1
5 5+

6 6
3 7+

4 9 3
3 9 8+

5 7
4 2+

1 8
1 8+

1 9 9
1 7 7+

3 7 1
2 7 8+

1 0 4
2 1 7+

8 7
5 6+

Solve the addition problems.  Use the answers to solve the riddle by writing the letters with their answers on

the lines below.

.

'
649
B

136
H

357
A

99
V

143
E

36
T

136
H

143
E

103
G

500
U

36
T

376
S

143
E

331
C

357
A

500
U

376
S

143
E

136
H

143
E

321

D

891

I

321

D

569

N

36

T

Why didn't the skeleton cross the road?

Answer KeyName: Date:

A

N

U T I

V G B E

C H S D


